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Solving Basic Equat ions in 3  Steps 

Solve the equat ions below and write the algebraic steps.  The first  problem  is 

already done for you. 

12x +  6 =  54   +  5 =  7 9x +  3 =  30 

 

12x +  6 -  6 =  54 – 6 

 

  12x ÷ 12 =  48 ÷ 12   

 

_______x =  4_____ 
 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 -  1 =  2  5x -  11 =  19 6x -  6 =  30 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

5a +  50 =  75 3x -  9 =  21 3x +  8 =  35 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 

 

 

_____________________ 
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Answ er Key 

12x +  6 =  54   +  5 =  7 9x +  3 =  30 

 

12x +  6 -  6 =  54 – 6 

 

  12x ÷ 12 =  48 ÷ 12   

 

x =  4 
 

 

a +  15 =  21 

 

a =  21 – 15 

 

a =  6  

 

9x +  3 -  3 =  30 – 3 

 

9x ÷  9 =  27 ÷  9 

 

x =  3  

 -  1 =  2  5x -  11 =  19 6x -  6 =  30 

 

x -  5 =  10 

 

 

x =  10 +  5 

 

 

x =  15 
  

 

5x -  11+  11 =  19 +  11 

 

 

5x ÷  5 =  30 ÷  5 

 

 

x =  6  

 

6x -  6 +  6 =  30 +  6 

 

 

6x ÷  6 =  36 ÷  6 

 

 

x =  6  

5a +  50 =  75 3x -  9 =  21 3x +  8 =  35 

 

5a +  50 -  50 =  75 – 50 

 

 

5a ÷  5 =  25 ÷  5 

 

 

a =  5  

 

3x -9 +  9 =  21 +  9 

 

 

3x ÷  3 =  30 ÷  3 

 

 

x =  10  

 

3x +  8 -  8 =  35 -  8 

 

 

3x ÷  3 =  27 ÷  3 

 

 

x =  9  

 

 

 

 


